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LIST _HEAD(bob_list). struct bob_jobs { unsigned long id. struct
list_head list. }. #define this_job(p) list_entry(p, struct bob_jobs, list)
static __initint chardev_init(void) { struct list_head *p = NULL.
//begin struct bob_jobs jobl ={.id = 10UL, //.list =
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00O 00O }.struct bob_jobsjob2 = {.id = 20UL, //.list =
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0 000 }. Major = register_chrdev(0, DEVICE_NAME, It. 0) {
dbg("Registering the character device failed with %d\n", Major).
return Major. } dbg("only debug the functions in list.h\n").
INIT_LIST _HEAD(amp.(job1.list),amp.(job2.list),amp.bob _list) {
struct bob_jobs *job = NULL. job =this_job(p).
dbg("id=%lu\n",job-amp.bob _list) { struct bob_jobs *job = NULL.
p = bob_list.next. job = this_job(p). //0delete a entry after header //
dbg("Odelete a entry after header , id = %lu\n",(this_job(p))-gt.id).
list_del(bob _list.next). } dbg("Odelete over \n"). return 0. } 100Test
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